HESS’ LAW 5

Find:  2C(s) + 3 Hy(g) + L Ny(g) + £ Oy(g) — CH;CONH,(s) AH= ?

Given

(1) C,H.OH(1)) + £ 0,(g) — CH,COOH(1) + H,(g)  AH=— 197.6 kJ
(2) C JH, (1 ) H,(g) — C,Hg(g) AH= — 136.3kJ
(3) H,(g) + H O( ) — C,H,OH(l) AH= — 287.7kJ
(4) CH COOH( ) 4+ NH,(g) — CH,CONH,(s) + H,0(1) AH=+ 139.5kJ
(5) (g) + 3 H,(g) — NH,(g) AH= — 45.9kJ
(6) C(s) 4+ 3H,(g) — C,Hy(g) AH= — 83.8kJ
(7) (g) + 2 0,(g) — H,0(1) AH= — 285.8 kJ
(4) CH,COOH(1) + [l — cHCONH,(s) + [l AH=+ 1395K)
(1) C,H;0H(I) + L 0,(g) — CH,COOH(l) + Hy(g) AH=— 197.6 kJ
(3) e Il C.1o0H() AH= — 287.7k]J
rev (2) C,Hg () — [ + 1. (2) AH= + 136.3kJ
(6) 20(s) + 3H,(g) — CyHy(g) AH= — 83.8kJ
(5) sN,(2) + 5 Hy(g) — | AH= — 45.9kJ

2C(s) + 2 Hy(g) + 3 Ny(g) + 5 Oy(g) — CH3;CONH,(s) AH= — 339.2 kJ
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